
© Copyright 2005 Nebraska Irrigation, Inc. All Rights Reserved.

179

A

B

C

D

E

F

G

H

I

J

Parts Breakdowns

PH: 402-564-1514  •  FAX: 402-563-2792  •  Columbus, Nebraska  •  nebraskairrigation.com

WHEEL GEARBOX PARTS

Item NI Part # Qty Description

17 902261 1 Shaft, Output, 2-1/4" Std  
for 61099

18 72008 1 Key, Output Shaft, 2-1/4"
19 91153 2 Seal, Input
20 270XX 1 Cap, Protector, Shaft, Vinyl
21 911113 1 Seal, Output Shaft, 2-1/4"
22 89012 2 Plug, 3/4", Steel, Black, NPT
23 90623 1 Shield, Input, Shaft, Protector
24 911107 2 Seal, Input, Dust, Excluder
25 89820 2 O-Ring, Input Shaft
26 90802 1 Shim, Input Shaft
27 918XX 1 Spacer, 2-1/4" Shaft
28 600XX 1 Gear, HD Output, 2-1/4"  

for 61020
29 902XX 1 Shaft, Worm, Input 

for 61020
30 902XX 1 Shaft, Output, 2-1/4" Std  

for 61020

NI Replacement Gearbox Parts for:

Durst Standard and Valley Type — 61099 & 61020

Item NI Part # Qty Description

1 27075 2 Cap, End, Open Steel
2 67051 1 Housing, Back, 1995
3 43021 1 Cover, Output Shaft, 2-1/4"
4 60033 1 Gear, HD Output, 2-1/4" 

for 61099
5 37011 1 Cone, Bearing, Output Shaft, 2"
6 44014 1 Cup, Bearing, Output, 2"
7 44009 2 Cup, Bearing, Input, 1-1/4"
8 37072 2 Cone, Bearing, Input, 1-1/4"
9 37033 1 Cone, Bearing, Output Shaft, 

2-1/4" I.D.
10 44028 1 Cup, Bearing, Output, 2-1/4"
11 91002 7 Screw, HHCS, 3/8-16 x 1"
12 89805 1 Ring, Snap, Output Shaft
13 20005 8 Bolt, Lug, 9/16-18 x 1.69"
14 82002 8 Nut, 9/16-18, Lug, Wheel
15 97203 8 Bolt, HHCS, 3/8-16 x 1"
16 90208 1 Shaft, Worm, Input, for 61099

�����������

��

��
��

�

��

��

��

��

�

���

�� �� �� ��

��

��

�

�

��
�

�

�

��

��

�

��

�

��

��

�

��

��

��

��

��

��

�

��

�����������

�����������

�����������

�����������

�����������

�����������

Valley Type

Standard

Valley Type

Standard

Valley Type

Standard


